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IWFaA 3afer / Time Allowed: 3 Hours FI®WHTH 3% / Maximum Marks: 80
AT fAEer / General Instructions:

The question paper comprises Six Sections — A, B, C, D, E and F. There are 37 questions in the Question
paper. All questions are compulsory.

. SectionA— From questions1to 20 are MCQs of 1mark each.
. SectionB—Question no.21 to 24 are Very Short Answer Type Questions ,carrying 2 marks each .Answer to each

question should not exceed 40 words.

. Section C contains Q.25 to Q.29 are Short Answer Type Questions, carrying 3 marks each .Answer to each question

should not exceed 60 words.

. Section D — Question no. 30 to 33 are long answer type questions, carrying 5 marks each. Answer should not

exceed 120 words.

. Section-E - Questions no from 34 to 36 are case based questions with three sub questions and are of 4marks each

.Answer to each question should not exceed 100words.

. SectionF-Question no .37 is map based ,carrying 5marks with two parts ,37a from History(2marks) and 37b

fromGeography(3 marks).

. There is no overall choice in the question paper. However, an internal choice has been provided in few questions

.Only one of the choices in such questions must be attempted.

. A separate question has been provided for visually impaired candidates in lieu of question shaving visual inputs,

maps etc. Such questions are to be attempted by Visually impaired students only. In addition to this, separate
instructions are given with each section and question, wherever necessary.

AT AT

3T 9T I H el 37 e ¢ | Tt e Arfaard |

g Ue-99 &:E3! H QAT & — WUS- F,QUs-W, YUS-I, YUS-H, TUS-33i1RWUs-7 |
WE—E?#Q%H@@Tl@ZOHEEgﬁW‘WTWH%lWWHl%?ﬂ?l

GUS-@ H TR HEAT 21 A 24 e 1 ofg-3eR17 9 & | Tcdeh TR&T 2 37ehi oh & 9cdeh FReT o 3eiX 40 2scl A 3ifereh
ST gleTT TR

GUS-31 H TR HEAT 25 { 29 TIeh oTY-3eg TR § | Tcdeh TRaT 3 37ehi oh & |9cdeh Y2 T 3eiX 60 Usal U 37fereh r w761
gleT =R T

WUS-H #H YT TEAT 30 A 33 deh &8 3T U2 § | Tcdeh U 5 3Rl & & 19cdeh e T 3a% 120 LUsal & 78 T g1
gleT e T

@US-3 H T%T TEAT 34 H 36 deh hdl JTUTRA & | Tcdeh I o A1 3-3 3T-YT & | Tcdeh YA 4 3l h § |

GUE- T 3 G TEAT 37 AT 3R & | T€ UReT 5 37 F1 & 37(a) (STAETE @ 2 37R) 3R 37 (b) (30T & 3 3i) |
U YRA-IT H THT T § fAhed &7 wraen=T 767 & | T oft 397 uaAt & ey o1 wraens & | 0 weail J § had uh
Revredir v 1 3R forgar § |
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Section A(MCQs 20X1=20)

Choose the correct nationality of the artist Frederic Sorrieu who visualised in his 1
painting a society made up of Democratic and Social Republic.
(A) German (B) Swiss (C) French (D) America

el theReh TRY T TET QAT ol fSiglad 39t AT A ellehclifFah 3K
TATSS IVRTST H g GHATS T hodaT T A7)
(v) S @) faa &) b (@) AR

Identify the correct option that describes the act given below. 1
(i) The act was passed by the Imperial Legislative Council.
(i) It gave power to the government to repress political activities.
(iii ) It empowered the government to detain political prisoners without trail.
(A)Rowlatt Act (B) Vernacular Press Act
(C) Government of India Act (D) Inland Immigration Act

S Rw v fAfFId &1 gufa e arel @ [eey I uga|

(i) T8 Ifafaad shiRTe ofoefea e garr aia frar s=r o)

(i) 3HeT TSR FI ISl ITATATAIT P galel T AfFT & &I

(iii) 3T THR A 9T fhel e & Toreiifas hieat & RRad 7 ot &1
CIBCarare

faheg-(T)ieie Tae () TR 9E T
@M 7Ra WeR F/ETE (@) adiy smvaaa sfaEas
Arrange the following statements in sequential order based on the events that 1

shaped the Non-cooperation movement.

(i) General Dyre opened fire at the large crowd gathered in the enclosed ground
of Jallianwala Bagh.

(i) ' forced recruitment ' carried out by the British Government and the economic
hardships faced by the people during the first world war.

(i) The defeat of the Ottoman Emperor of Turkey led to the formation of the
Khilafat movement.

(iv) Gandhiji launched a nationwide satyagraha against the Rowlatt Act.

(8) (), (i, (@), @) (o) (i) (i), (iv)

(©)() ,(iv), (i), (i) (d)(@), (i), (iii), (iv)

3EGANT JHTeTelel T AR Sl dTell T3l & IR R Fe=fafld Hyat i rghias
%A H gaeyd |

(i) STeRel SRR & FATAATETel &7 & o6 AGld H UHhiad §37 g 9 M Ter &

(ii) fofeer TR eaRT i 715 STk o7l AR g2 faed e & aRieT et o1 g 3
HISATSTT T ATHAT FHIAT TST|

(iii) THF & AHAT FATC T &R F FROT TYlThd MTeleled HT IS G|

(iv) IMENST &7 Jeie Tae & fa%ey Sereardt Hcamarg Iam|

(@) (iv), (i), (i) , (i) (&) (i), () , (i), (iv)
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(@) ,(v), i), (i) (&N, (i), (i), (iv)

Consider the statements given below and choose the correct answer 1
Statement I: Western printing techniques and mechanical press were imported in
the late 19th century as western powers established their outposts in China.
Statement II: Beijing become the hub of the new print culture, catering to western
-style schools.

(a) Statement(l) is correct and (ll) is incorrect.

(b) Statement (1) is incorrect and (I1) is correct.

(c) Both (I) and (1) are incorrect.

(d) Both (1) and (1) are correct.

A AT 91T et W fauR A 3R F@E IR g

el |: 1987 W& & A H afRaely Foor dehelten AR it 9F T 1A FohaT a/dm a-difeh
ofRaaT afeaal o & 39er difRar Tenfia &

e |I: AT IR Aoy & Tgelt AT SgTam & §U A5 foie TEpfa &7 g 51 7 &
(v) &YeT (1) T & 3R (Il) FTere B

(3 o= (1) e & 3R (1) T

(&) =t (1) 3R (1) 37 & (3 arr (1) 3R () FE gl

In which of the following States mining has caused severe land degradation? 1
(a) Gujarat (b) Jharkhand (c) Kerala  (d) Uttaranchal

%mﬁr@aﬁﬁﬁmmﬁmaswmﬂ?ﬂﬁrﬁﬁﬁwgmg?

(v) Torid () RS (&) I () IR
The Buxar Tiger Reserve is seriously threatened by: 1
(a) Iron ore mining (b) Oil exploration

(c) Dolomite mining in that area (d) Volcanic eruption in that area
JRIR TBIR RS &l 70K T &

() g 3raEh Gelel @) aa f @
(&) 37 aF H SARS el (3N 38 & & Sarengdr faEhe
Conservation of forest is a key to the survival of human mankind. Some of the 1

practices undertaken in India in this direction is Joint Forest Management. ldentify
the correct information related to Joint Forest Management.

1. It involves local communities in the management and restoration of degraded
forests.

2. The program has been in formal existence since 1980.

3. Jharkhand passed the first resolution for Joint Forest Management.

4. The members of local village communities are entitled to intermediate benefits
like non timber forest producers.

Options:
(@) 1 and 2 only (b) 2 and 3 only
(c) 1 and 4 only (d) 3and 4 only

el ST TRETUT AT ST & 3Hcled HT Foll T 34 o & 6RA & A ST arell Fo
TATC HYFA Tl T §| HIkcl IoT Gatiel § Hefticd T SATAehT Ggaet |

1. g8 Ase gU gall & Yot AR GoAediue A T GHErET i afder A I gl

2. 98 ®isA 1980 & 3ftgaiRe ¥ & 31fedca # gl
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3. SIS & T a1 Yt & T Tgell SEard aiRel foa.

A. T A FHACH & HeFg IR sl deT Sculeenl Sl g HEIQc ol & §ehaR ¢l
e

(T) Faer 1 3R 2 (@) Faer 2 3% 3

(@) saer 1 3R 4 (@) Faar 33K 4
8 | Organisations that attempt to influence the policies of the government to 1
safeguard their own interest are called as:-
(a) coalition government (b) legitimate government
(c) pressure groups (d) Democratic group
T I S 39 Rl Y 36 & fow R A Afadt A gsfag w1 gIw wa §,
e &
(T) IS THR () a7 WPR
() aare e (&) st W
9 | Consider the following statements on power sharing and select the answer using 1
the codes given below:
1. Itis good for democracy.
2. It creates harmony in different groups.
3. It brings transperancy in the governance.
4. It brings socio-political competition among parties.
Options:
(@) 1,2&3 (b) 2,3&4
(c) 1,3&4 (d) 1,2&4
T @R W Aefoi@d ¥« X fdarR & 3R & U 91T &g &7 39967 Fle 39X
e
1. I8 oidd & fov 3T §.
2. 75 faffes woggt # wierew Tuifid &ar g
3. I A H URGTAAT oI gl
4, 7g qiféar & drg aEfae-seiae gfaeay’ o ar gl
e
(@ 1,2 3k 3 (s 2,3 3k 4
(@ 1,3 3R 4 @ 123K 4
10 : : . : . 1
Which of the following countries is an example of ‘coming together’ federalism?
(a) USA (b) India c) Spain (d) Belgium
AeTaf@ad & & i 1 U 'Y 7T Y IA1T ' aTel JUdIE, T 3STEI0T 87
(v) guaTr (@) #Ra (&) ®WT @) sfesIA
11 | The Equal Remuneration Act , of provides that equal wages 1
should be paid to equal work.
(@) 1986 (b) 1976 (c) 1966 (d) 1972
F A giHfAe fafaas & ueue § F 999+ & v
AT dd<T fear S anfeu|
(©) 1986  (s) 1976 (&) 1966 () 1972
12 | Assertion (A) : People of one religion do not have the same interests and 1
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aspirations in every context.

Reason (R) : Everyone has several other roles, positions and identities.
(a) Both (A) and (R) are true and R is the correct explanation of A

(b) Both A and R are true and R is not the correct explanation of A

(c) Ais true but R is false.

(d) Alis false but R is true.

arar (T): Teh 9 & el i g7 Tes¥ & FHERT S 3 3mehiene ET g E
FROT (3R): & AT T Fg 37 HAFW, 9 iR ggar g &

(T) gt (T) 3R (3R) IcF ¢ 3R AR, T FI TET TIEIRT §

@) T 3R IR S TeT § 3R IR, T HT TE TISERIOT AL

() T dcT g «fhd 3R e gl

@) T ITad & AfFT IR T R

13

Which leaders worked for the elimination of caste system in India? 1
(a) Jyotiba Phule , Dr. B. R. Ambedkar, Mahatma Gandhi and Periyar Ramaswami
Naicker

(b) Raja Ram Mohan Roy, Dr. B. R. Ambedkar and Jawaher lal Nehru

(c) Jyotiba Phule, Sardar Patel and Mahatma Gandhi

(d) Swami Vivekanand, Jyotiba Phule and Raja Ram Mohan Roy

AR H S STGEAT & 3ol & AU Tt A3t & & famar?

(T) SAFAST Pol, 3. 3R, HFASH, HEleAT MM 3R NI TATETHAT AR
() ST A AgeT I, 31, SR, SR AR FAER Tl Ag®

(&) ST Pol, TER g 3R HleaAT et

(d) Earedr fadeptetee, SATAST B AR T TH Algol I

14

Where does every political party have to register in India? 1
(a) Government of India (b) NITI Aayog
(c) Election Commission (d) Law Commission

AT # 9AF Tolelde & Hl WU GSHIehUT el ?'T“T %-7
(V) #RT THR (A 3marr
(&) gATa 3T (@n &t smarer

15

Democracy produces @ ..........ccceeeeeveeeveeevennnnnnnnnns Government. 1
(a) Accountable (b) Responsive
(c) Legitimate (d) All of the above

CIE TS E L WHR FT FATT Far gl
(U) saecg () 3ReRY (8@) g (3) IReEd @

16

Read the given data and find out children of which state has attained maximum 1
elementary school education?
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‘States | Per Capita Income for 2015-16 (in %)

Vil-iairyana 1,62,034
Kerala 1,40,190
Bihar 31,454

Table 1.4 Some comparative data on Haryana,
Kerala and Bihar

Net Attendance

Infant ! Literacy | Ratio
State mortality Rate % . (Per 100 persons)

. rate per 1000 2011 | Secondary stage

: (2016) ! . {(Age 14 and 15

' | TYEREe) ZOVDR0IE
Haryana 33 82 61
Kerala 10 94 | 83
Bihar 38 62 43

(a) Haryana (b) Bihar (c) Haryana and Kerala both (d) Kerala

QU 1T 3mepst &1 9§ 3R Tar ST & fhE T & SeAl A HwaH YRS Tpol RIS
gred @ g7

(v) gRaor (&) fogr (&) gRIom 3R el gl () e

17 | Statement -I: MGNREGA was introduced in 2005.
Statement -II: Right to work is associated with MGNREGA.
Statement -lll: Reserve Bank of India is now known as NITI Aayog.
Statement -IV: GDP stands for General Domestic Product.
Choose the correct statements
(a) Statement | and Il are right.
(b) Statement 1,11 and Il are right.
(c) Statement Ill is right.
(D) Only statement IV is right.
FYA-l: AT 2005 A Y& RAT arm 7|
HYA -II: FTH HT ISR HAQT F 3T &
FUT -llI: IR Naa S« it 319 AT 3T & A7 F =T F7AT
HYUA -IV: SHER &1 AT HAT e 371G B
e HYA ol
(T) FYaT | 3R 1 T@r gl
(&) w1, 13- 1 TEr &
(@) Fu=T Il F@Er gl
(3) Haer HAF IV TEr I
18 | Which of the following is NOT an example of the process of globalisation

(a) Google's headquarters being in California with multiple offices across the
world.

(b) Railways being the largest public sector undertaking employer in India.
(c) McDonald's introducing McAloo Tikki specially for the Indian menu

(d) Spanish family having masala dosas for their weekend breakfast.
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Afaf@d F & F dedior T Ufhar &1 3eeor 78 872

(V) TETeT T HEAToT Hfawiferar # § AR 58 giaar s & &35 SR ¢
() YT RA & AT &F F GEY 37T AT g

(¥) AFSiTesd 7 AT T F ARAT As] & forw Aepame] feahr er &1
(3 AT IRAR 39 FedRia & AR & fov FATET ST WT IET B

19 | Which among the following issues currency notes on behalf of the Central 1
Government?
(a) State Bank of India (b) Reserve Bank of India
(c) Union Bank of India (d) Commercial Bank of India
Aol 7 @ Fid &g TWHR HI 3N T FEAT Alc AR FAT 872
(T) ARG & 96 (@) sRdT Rea 96
@) g dF e Sfear () aRdT afoifas 9%
20 | Statement -I: Globalization is associated with movement of goods and services. 1

Statement -l1l: MNCs stands for Multi National Colleges.
(a) Statement -l is correct and 1l is incorrect.

(b) Statement -I is incorrect and Il is correct.

(c) Both I and Il are incorrect.

(d) Both I and Il are correct.

YT -|: JedlenoT a3t AR Far3it &1 aredr d SET &
W-II:WWWWW#@WW%I
(v) Fo=-1 Ter § 3R 1 I7era g

@) FuA-1 e & 3 1@ B

@ 1 3R 1l =t rerd g

@) 13k 1l et @gr &

SECTION-B VERY SHORT ANSWER QUESTIONS (2X4=8)

21 | Write the climatic conditions required for the cultivation of Wheat. 2
g @ Yol & AU 3aeges Sieary IREdagr |
22 | What goods were exported and imported from Silk routes? 2
WA AET & et aEg3t 1 AT 3N 3mard fohar srer ar?
OR a1

" The Silk routes are a good example of vibrant pre - modern trade and
cultural links between distant parts of the world." Substantiate the
statement with illustrations.

"LQH AT gAAT F Il & FEAT & A= Shad q@-3myfas samr iR
GrEpideh HUT I Teh 3T 3aTeXvT ¢ 1" 3ETgR0T Higd HUel Hr gfte HfIv|

23

Name any two subjects that are included in the Concurrent List. How are |2
laws made on these subjects?

AR AT #7 enfAer fhedl o vl & & sy 3 At W el Ha
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gl 87

24 | |n comparison to non - democratic government, decision of government
takes time." Does democracy pay its price? Briefly explain
"I dAlerditeh THR & Jofell H WHR & W0 d TAG o97ar 1" 97 SAieheid GHhT
Section-C SHORT ANSWER QUESTIONS (5X3=15)
25 |' The imperial State in China,was the major producer of printed material.’
Support this statement with examples.
AT 7 AR TsT AR T T @ IcueF ATl 3TV AR $H FUA H
AT Hi|
26 | " Tertiary sector activities help in the development of the primary and secondary
sectors." Evaluate the statement.
g & 1 ARt safEE it gfades ot F Rew § Feg
81" HYUF HT HodiheT . OR/ @
How did MGNREGA 2005 bring upliftment of the rural people? Explain.
HAW 2005 & FTHITT WAl T 3cUTT Fd fhIT? IEdr |
27 | " There is need for protection and support for the workers in the
unorganised sector." Evaluate the statement.
"IHATST &1F & AfAR & AT &t IR AT 1 AT §1" HYUA &I
28 | Describe any three Iron -ore belt in India.
RA H fhedr A9 @ilg 39Tk docl &7 guld Y|
29 | " Secularism is not an ideology of some political parties or persons, but it is
one of the foundation of our country." Examine the statement.
"TATRIETAT Fo Tl ot ar safaaal HT FaaRarT 781 §, afod I8 gAR &
T Ald H T Teh g1 HUsT T IHET0T Y.
SECTION D LONG ANSWER QUESTIONS (4X5=20)
30 | How did ideas of National unity in early nineteenth century Europe ally to the

ideology of liberalism? Explain.
Seciredl FEI T YRATT H JUT # AT Tehel & [auR 3gRale & TaaRUnT
¥ Y 37 SATEAT e

OR/ 3T

How did Greek war of independence mobilise nationalist feelings among the
educated elite across Europe? Explain.
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AT TIAAAT FIH F W JO9 #H Rf@T 31fAand aob & S aseardy rasisi
N HE SIE fohar? ST T

31

Describe the importance of Manufacturing Industries as a backbone of economic
development of the country.

¢er & e faera & fic & &7 7 AfAATT g9 & #Agea F auiad H|

OR/ AT

" Jute industry is concentrated in the Hooghly basin." Validate the statement with
suitable reasons.

"SIC 3ETNT gl S8l A hiod §1" 3Uged HRUN Al YT T give Y|

32

Describe the role of Political Parties in Indian Democracy.
AR S & T aelt Y SffeT F AU )
OR 3T
Suggest any five effective measures to reform political parties.

TSTelfceh gell # FUR & fIT @IS 9iar JHrd 3Ury g |

33

" Poor households still depends on the informal sources of credit." Support the
statement with examples.

"INIT gRER 378 Y FHOT & RS Frdl 9T AR 1" 3ereer gfed U
T FHIT H|

OR 31

" Self Help Groups" help borrowers to overcome the problem of lack of collateral.”
Examine the statement.

I WEIAAT HHG" SURGAN T GuiiRas i wolr i gaear § 398 # Agg
T 1" AT T AT P

SECTIONE  CASE BASED QUESTIONS (3X4=12)

34

Read the source given below and answer the question that follows.

"It is said of " passive resistance" that it is the weapon of the weak,but the power
which is the subject of this article can be used only by the strong. This power is
not passive resistance;indeed,it calls for intense activity. The movement in South
Africa was not passive but active...

' Satyagraha is not physical force. A satyagrahi does not inflict pain on the
adversary; he does not seek his destruction... In the use of satyagraha,there yno
ill-will whatsoever.

' Satyagraha is pure soul-force . Truth is the very substance of the soul. That
is why this force is called satyagraha. The soul is informed with knowledge. In it
burns the flame of love. ...Non violence is the supreme dharma... ' It is certain that
India cannot rival Britain or Europe in force of arms. The British worship the war-
god and they can all of them become, as they are becoming, bearers of arms. The
hundreds of millions in India can never carry arms. They have made the religion of
non-violence their own....."

34.1 Why did Gandhiji consider non-violence as supreme dharma?
34.2 How was Gandhian satyagraha taken by the people who believed in his
philosophy ?

N+ PR+
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34.3 Why was Gandhian satyagraha considered as a novel way to resist injustice?
#T e v d@a f 9¢ 3R Re=afaf@a wea 1 39w &)

AR Gfa” & aR 7 FEr S § & I8 FASN 1 gRAN B, ofde S afed s
oI F AYT § 3THT 39N hddl dlhda’ & X TohdT & I8 AFd AfSea gfarier =@
g, aredd &, sas fow g afafafd & 3maegewar gxdr &1 gf&or snfer & sreies AfSea
gl dfeeh Hishd 2AT...

HATTE MORF I LT &1 Th T T A VST AL IGAT; Tg 39T =10 et
A, HAE & FA9T #, Tl o Jehr hr geifaetr =781 &1

"HAE YSY HIcHSA g T 8 AT T 7l ded ¢ SHAT 58 ol Pl HcI1aIg gl
ST &1 37cAT T AT & I HIAT ST g1 STH 9T T ot SForar g1 ... 3771 e g
g..' I8 [ARed & fF #IRd 8fAART & ool X et a1 JUT 1 HHIEe A&t HT FehclT|
33T Fey-Sadm &1 Yol ad § 3R 9 #el §¥IR URSF & TR §, 9 3 9 W &
HRA & U T wefr off gfIUR 6T I@ ThA| 3o 3feAT & 437 Fl 39T 93 a1
34.1 el S ¥ Jfgar & WA & =Y AEAT?

34.2 INTEY FATIE 37 & H AT L arer o o FF TR 379a7ar?
34.3 IMNAET TATAE DI AT HI [T FIA T Teh IFAIGT IRl FIi AT IAT?

35

Read the source given below and answer the questions that follow.

Today, dams are built not just for irrigation but for electricity generation, water
supply for domestic and industrial uses, flood control, recreation, inland navigation
and fish breeding. Hence, dams are now referred to as multi purpose projects
where the many uses of the impounded water are integrated with one another. For
example, in the Satluj - Beas river basin, the Bhakra-Nangal project water is being
used both for hydel power production and irrigation. Similarly, the Hirakud project
in the Mahanadi basin integrates conservation of water with flood control. Multi -
purpose projects, launched after independence with their integrated water
resources management approach, were thought of as the vehicle that would lead
the nation to development and progress, overcoming the handicap of its colonial
past. Jawaharlal Nehru proudly proclaimed the dams as the ' temples of modern
India '; the reason being that it would integrate development of agriculture and the
village economy with rapid industrialization and growth of the urban economy.
35.1 Hirakud dam is built on which river?

35.2 Name one multipurpose project is found in the Satluj - Beas river basin.
35.3.Give two reasons for the adverse effect of dams

fT e v d@a A 9 3R 39& 9 A e oAt F 3 )

IS, 9T Fhao =S & fov 7 afes ST 3eures, Mo 3K 3fiea@e 3uahr & faw
Stel 3, a6 fA=vT, ARG, adela afddes iR Ao yoeta & fav g sd §
ST, el I 3 dg3ecedy IRASTAN & T H A1 S § Sl Ah IC I=A & g
39T U GER & A Thishd gld g1 3amR0l & U, Hddol-sar| el affeT &, HIEs-
ATl IRAISTAT o Ulell &l 3UANT STel faegd 3cdieet AR Fars et & fow fohar sm w@r
¢l 3 voR, #eEd! IR A fRihs IR a6 A0 & WY STl HYETOT S Ul

N+ PR+
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A | FGAAAT & TG YA Tehlhd STl HEATEA Yetled GOCHIOT & TY Y& HT TS
Tg3ceR T IRASATHT hT X ATETH & T A HAT IAT AT S G A ARG 3T
@rwaﬁaﬁagwﬁgvﬁ?maﬂlfmﬁwaawml STATEITel g% o §3 99 &
diEl @ IYfAe HRA & #eY o fhar on; 3@ FROT IF § % g8 Y 3R g
HIegaedr & qhrd # deil A Jegeietor 3R el degaedr & [ & QI Tehlehd
EXT)I

35.1 ERIS STy fohe AT W AT 917 §72
35.zw-wma€raﬁ|ﬂﬁ¢r§aﬁaaﬁwa§3aﬁaﬁuqﬁmmwamwl
35.3.4141 & Wfdehel YT & &l HROT dasd

36

Read the source given below and answer the questions that follow.

For comparing countries, their income is considered to be one of the most
important attributes. Countries with higher income are more developed than others
with less income. This is based on the understanding that more income means
more of all things that human beings need. Whatever people like, and should have
, they will be able to get with greater income. So, greater income itself is
considered to be one important goal. Now, what is the income of a country?
Intuitively, the income of the country is the income of all the residents of the
country. This gives us the total income of the country. However, for comparison
between countries, total income is not such an useful measure. Since, countries
have populations, comparing total income will not tell us what an average person
is likely to earn. Are people in one country better off than others in a different
country? Hence, we compare the avarage income which is total income of the
country divided by its total population. The avarage is also called per capita
income.
36.1What does Per Capita Income means?

36.2 In world development reports, brought out by the World Bank, which criterion
is used in classifying countries?
36.3 What is the most important attribute while comparing countries?

MY R v @F F 9¢ 3T 3T 9g A T TR&AT F IW )

el T Jorelr & AT 3T I N FOH Agead O AATAIT 7 F v AT AT g HF
3T dTer & FA AT dTel e ot H Jonr 7 3w Fwfdd g €1 97 56 a9 W
3R & & 31 3 1 Ao 30 et ot A 31fF § STeh Fsg AT 3maezehe
¢l St $o @RI AT gde & AR gl A1feT, 98 3¢ 38 3y & Ay fAe @ safaw,
HfRF I YIS AT F U Ageaqol @8d AW el gl 39, ey 3or & 3y F.ar g2
ST ¥ F, & F A & F TN Farfddt o3 § sHE g S A P 3T ured
Bl €1 gTellfeh, 331 o oI Jolell & TIT, ol 3T I 3TN 3UTT =7g7 g1 Hfeh, ot &
STSTET 3TOIIT-3eTT §, ol 3T BT Tolell el W A Fg AGT Tl Tehm o voh 3 i
fohclelT AT Fehll 1 FAT Teh A & T GEX M & 3 oI &l Jolell H gk Fufd &
87 AT, §H A 31T & Jolell I & ST & N Fel AT HT 3FHT Fol SToaear §
fenfaia Xt g1 3fraa & gfa safed 3mx o sver Srar g

36.19fa cafad 3T &1 Far 37 2

36.2 faed d arT gl faed o RAIE # e &l aefipd et & fv fohg ALEs

N+ P+
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o 3YANT fhar STrer 872
36.3 CRiT T oIl I FHT Fod Hgeaqol [GAvar Far g2

SECTIONF  MAP SKILL BASED QUESTIONS (2+3=5)

37 | Map skill based questions: 2
37A) Atwo places a and b having marked on the given outline map of India. +
Identify them and write their correct names on the lines drawn near them. 3
(a) The place associated with the peasants satyagraha.

(b) Indian national congress session was held at this place in December 1920.
37B) on the same outline map of India locate and label any three of the following
with suitable symbols.

1. A Nuclear power plant in Gujarat
2. A Seaport located in Kerala
3. A airport located in Delhi
4. A software technology park in Karnataka .

AT Flere ameniRa gesT

37A) RT 31T $IRA & FNAT ART W r T A 3R B 3ifhd &1 3¢ dgdred
3R 396 g EiRT 98 @3 WX 3d% el A1 |

(A) foam TarE ¥ 981’

(B) fa¥isR 1920 # 3! WM R YR P HiUY DT 3MUdRE g ol
37B) IR & 38 TR AT R @efafad # @ fhedl it 1 3ugead
gder & Rfgaa &

1 FoRIT # Teh WAY] Foll HIF 2 3l # EUT T g
3 feoelsy FEUa ue gars 31gsr 4 FelTesh H [TIT U TFedIT TFATelTolT
qrh
Note: the following questions is for visually impaired candidates only in lieu
of 37aand 37b
dAte: Arafaf@a mead Faa gRcata srdlqart & fow smge 37v ik &t &
I T &

37 | A. Name the place where the peasant satyagraha took place

a | B. Name the place where the Indian national congress session was held in
December 1920
A. 39 TATH HT 18 dd10 8T [haT I3 g3t
B. 39 TATH &l AT IdU 8T fGHeR 1920 H HARART TSI FEIT &1 3faaee
AT foRar arar ar

37 | Answer any three -

b | a. Name the nuclear power plant located in Gujarat

b. Name the sea port located in Kerala
c. Name the software technology park in Karnataka
d. Name the airport located in Delhi
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a. IeNd ¥ TEId WA Fo AT HT AH AT

b. el # [EUT FHLT deang HI AH AT

C. Feilee H FFud AiredaReTFAdlisll 9T &1 ATH FadTe
d. fEeeld Reua gars 3133 &1 A1H adid
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